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Using Order of Operations

Name:

Evaluate each expression.
1) 40+1+3-(3x7)+7-5

3) (449+16+4)-8-3x5

S) 5-(49+1-5)x2+49-3

7) 5x5-74+82+(2x1)+5

9) 4-9+(7x11)x5+7+8

2) 1-5+1x(4x4-31)x8

4) (15+5+6+9)x4x2+7

6) (2+76+1+9)+4-3x9

8) 7x7+1+16+8-(6-7)

10) (5-6x9+6)x9+3-85

Answers

10.
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Using Order of Operations

Name: Answer Key

Evaluate each expression.

1) 40+1+3-(3x7)+7-5
40+1+43-21+7-5
40+3-21+7-5
43-21+7-5
22+47-5
29-5
24

3) (4+9+16+4)-8-3x5
(44+9+4)-8-3%5
(13+4)-8-3%5
17-8-3%5
17-8-15
9-15
-6

S) 5-(49+1-5)x2+9-3
5-(49-5)x2+9-3
5-44%x2+49-3
5-88+9-3
-83+9-3
-74-3
=71

7) 5x5-7+82+(2x1)+5
5%x5-74+82+2+5
25-7+82+2+5

25-7+41+45
18+41+5
59+5
64

9) 4-9+(7x11)x5+7+8
4-9+T7Tx5+7+8
4-9+385+7+8

-5+385+7+8
380+7+8
387+8
395

2) 1-5+1x(4x4-31)x8
1-5+1x(16-31)x8
1-5+1x(-15)x8
1-5+1%-15%8
1-5+-15%8
1-5+-120
-4+-120
-124

4) (15+54+6+9)x4x2+7
(3+6+9)x4x2+7
(9+9)x4x2+7
18x4x2+7
72x2+7
144+7
151

6) (2+76+1+9)+4-3x%x9
(2+76+9)+4-3x9
(7849)+4-3x9
87+4-3%x9
87+4-27
91-27
64

8) 7Tx7+1+16+8-(6-7)
TxT+1+16+8-(-1)
TXT+1+16+8+1

49+1+16+8+1
49+1+42+1
50+2+1
52+1
53

10) (5-6x9+6)x9+3-85
(5-54+6)x9+3-85
(-49+6)x9+3-85

(-43)x9+3-85
-43%x9+3-85
-387+3-85
-384-85
-469

Answers
L 24
, 124
s 6
. 151
5 =77
. 64
;64
. 53
5. 395
o, -469
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ﬂé Using Order of Operations Name:

Evaluate each expression. Answers
4 N
24 -6 64 =77 .
-124 151 64 53 2.
\ /
3.
1) 40+1+3-(3x7)+7-5 2) 1-5+1x(4%x4-31)x8 4
5.
6.
7.
3) (449+16+4)-8-3x5 4) (15+546+9)x4x2+7 8.
S) 5-(49+1-5)x2+49-3 6) (2+76+1+9)+4-3x9
7) 5x5-74+82+(2x1)+5 8) 7x7+1+16+8-(6-7)
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